lW?k&mﬁ%Fﬁ?—&w—zmw#—? 20138A4H (B) 2E/\&48

/J\,E- e G3 HIR3mLE (ER) (5E) NoF BRI R e
[$;§] 1 7% : 40,000,000 M 2 % :16,000,000 . 3 3 :10,000,000 . 4 7 :6,000,000 @ . 5 & : 4,000,000
& | B mEBR Mk ME BF (&) 24 L (&%) | @BIBf | £3F |SIEE | AR | AE | R FIRB) / BE / £ERS
X4 a9FI > 5 Eé% 1:(5_7).1 5-5-3-1 |34.2]109.6 | 3 ;ﬁz) ;\E%iﬁ%
RiN—YU54 B:ZE&—~Z3V2D $E  IER
= —: 3 | JIIEXERE 1:57.3 5-5-6-3 |34.3|107.5| 5 474 | WIIFE (ER)
Z27)—749 e 53.0 (1 1/4) (+4) SFEAR—ILT 1> TR (#)
XL TAANAN BiRyT7aA-2T v X J =Y Tr—L
> LS H 5 HAH 1:57.3 4-4-3-2 | 34.5[107.5| 1 484 | LRIEZ ()
3lgl14| ¥ TRNZT7U= 0 (7€) 4e) | R FITLUKI5T 5T T
L:F—TNT7N—F B:F47RKOy TR K HiE
%7 5=l 4 5 | AEFT 1:57.5 15-15-14-10| 33.9 | 105.3 | 4 466 | FMIAIL (RR)
S5 D) 4o | W) /=ZELZ
RFA—TANG L BTITLI-F4T L
. : £y 6 | HIEHE 1:57.8 13-13-10-6 | 34.5 | 102.1| 6 502 _(E=®)
5 7 Ty AR =L g .0 (1 3/4) (-4) LLIA5A
R:TRYAYTy IR BRU—3I2TLAF BEZZY K
AN 6 | AR 1:57.9 8-8-6-6 |34.9|101.1| 2 446 | BIRE (ER)
6 2| T7ANT 173> " 57.0 (1/2) © | &) HEL-2AK-2
R:2F4T—I K B:E—FE)L (B) #BEA-FKL—>a>AET7
s > t g | BREIEX 1:58.2 10-10-9-6 | 35.0 | 98.0 | 12 | 428 | B (F=)
71111 24/ TIL O x .0 (1 3/4) +2) NAKRF]
R:xY/ by THY B:2A/ET— BREH#E S/ 77— L4
c= i # o9 | ESFEA 1:58.5 8-8-10-15 | 35.2| 94.9 | 15 | 512 |HER (RR)
gl5/9|F—HFKZT> 520 @ 4y | APET
L:xrdnaO— B:7NNRAH—1)— NAKRE
S K4 T 4t 6 | BEHF 1:58.5 13-14-14-13| 34.9 | 94.7 | 10 | 476 |HRHEAEE (Ex)
9|7l12| BT 77Uy FET> 5.0 (NF) (0) ‘EE) HEL—ZK—Z
L:70% % BUL-RFCFK (B) HBEa-KL—-ra>aEI77
etk — :58. -0 . . FEEIER (ER)
10 NEIN-FEE H 6 il (/?g_‘)é 2-2-2-3 [35.9| 95.5 | 7 422)2 qEr
R:7v% % FB:gLOFU— il e
o AMEB= . -10-10- AHRE (FX)
» MELPZA S i 5 s 1.(528>.8 10-10-10-10{ 35.5 | 92.1 | 8 3022) bR
LR THANAN B EHIRZFT 799577 — I
HALLEAE . —10-10- AE—R (EX)
1ol7l13| FUEIYZEL 7 Al 1(;3&{5:) 10-10-10-13| 35.6 | 91.1 | 13 :;o) R RE
AR w4 =T BT v XTN— () HAEa-KL—Ya>AET7
S 3. o7 | AEEN 1:59.1 1-1-1-3 | 37.0| 90.5 | 9 530 | =iEEE (ER)
13 3 &AM aTHIy b 53.0 (1 1/2) (-8) m%&ﬂﬁ
R KYTUZXIR BivIVEY L EEickie
=3 H o6 | FHEZ 1:59.3 3-3-3-9 |36.5| 8.1 | 14 | 520 |FEEZ (RR)
148|15| 7> a2V b 57.0 M (o) |fEiED
R:w>NyB&>HhT1 BIPRLAY X #1185
= HEMER : —7-6- AHESHE (FEX)
N NI i 6 s 2.(07()).5 7-7-6-10 | 37.5| 78.1 | 11 (5+260) PN
R:J527 48— B:okrEOQfryU—7 #E
@ 21 L
£ 47.2-35.0
NA>ZA LA | 12.3-10.8-11.1-12.0-11.8-11.9-12.2-11.8-11.3-11.9
® 1—F—@EBIERL
1T=7r= 3,5,15-14(4,6)11(2,9) (1,10,13)-(7,12)8
Pal=5F= 3-5,15-14(4,6)11(2,9) (1,10,13)-7,12,8
== 3-5(4,15,14) (2,6,11)1(10,9,13,7)-(8,12)
43—+ — 4,14(3,5,6) (1,2,7)15(8,10,11) (13,12)9
[ RN
= 4 690H 714K 4-6 930 e E 3-4 1,390 JEE 4-6-14 4,180
B B 4 220M 4-14 550M B = 4-6 2,580H JEH 4-6-14 28,220
6 260M 6-14 680M B H 4-6 5,160
14 1509
ABICOVWTRHDTERERRODLDE, THERLE,




